
Initial recruitment test 
 
 

Test 1: Verbal Usage 
Circle the letter (a to e) that contains the correct answer. 
 

1. One hundred officers ________ allocated for ________ control. 
 

A Was 
croud 

B Was 
crowd 

C Were 
croud 

D Were 
crowd 

E None of 
these 

 

2. It is ________ to bring your uniform to the training ________. 
 

A necesary 
centre 

B necessary 
centre 

C necessary 
center 

D necesary 
center 

E None of 
these 

 

3. Pedestrians have ________ of way on this ________. 
 

A right 
street 

B right 
streat 

C write 
street 

D Write 
streat 

E None of 
these 

 

4.  Only ambulances were allowed ________ to the ________ of the accident. 
 

A access 
seen 

B acess 
scene 

C access 
seen 

D acesss 
scene 

E None of 
these 

 
5. To our surprise it was ________ who was in possession of the ________ papers. 
 

A her 
stollen 

B she 
stollen 

C she 
stolen 

D her 
stolen 

E None of 
these 

 
 

  



Test 2: Checking information 
Look at the two lists below and check to see whether the Information in list 1has been 
correctly transferred to List 2. On list two, circle each place you find an error. 
 
List One  List Two 

Date Name Time Reference  Date Name Time Reference 

12/1 Williams 13:30 2613  12 Jan Williams 15:30 3612 

3/8 Chan 07:29 5917  8 March Chan 09:27 579 

6/6 McCartney 22:01 4851  6 June McCarthy 22:01 4851 

22/9 Patel 10:42 2237  22 August Patel 10:42 2337 

30/11 Neilson 06:20 9246  
30 
November 

Neilson 0620 9246 

18/10 Varless 09:36 7635  10 October Virless 09:36 7635 

03/07 Smith 14:20 6234  3 July Smith 14:20 6994 

4/9 Garcia 17:34 9767  3 July Garca 18:42 8756 

7/8 Mobley 20:12 3111  7 August Mobley 20:12 3111 

24/11 Barton 05:46 7763  
24 
November 

Barton 07:46 7795 

 
 

  



Test 3: Working with numbers 
Circle the letter (a to e) that contains the correct answer. 
 
1. A purse was found with one £5 note, four 20p coins, and five 2p coins. How much did the purse contain 

altogether? 
 

A £5.10 B £5.22 C £5.82 D £5.85 E £5.90 

  
2. A car park has space for 220 cars per floor. How many cars can fit on 3 floors? 
 

A 440 B 460 C 640 D 660 E 680 

 
3. A work shift begins at 14,15 and lasts for six hours. What time does it end? 
 

A 20:15 B 16:15 C 20:45 D 22:30 E  

 
4. If there is an average of 30 accidents per month, how many would you expect there to be in 12 

months? 
 

A 420 B 380 C 360 D 300 E 120 

 
5. What percentage of £40 Is £8? 
 

A 5% B 20% C 22% D 25% E 48% 
 

  



Test 4: Verbal reasoning 
 
Read the following section: 
 

Some time on the night of October 1st, the Copacabana Club was burnt to the ground. 
The police are treating the fire as suspicious. 
 
The only facts known at this stage are: 
• The club was insured for more than its real value.  

• The club belonged to John Hodges. 

• Les Braithwaite was known to dislike John Hodges. 

• Between October 1st and October 2nd, Les Braithwaite was away from home on a 
business trip. 

• There were no fatalities. 

• A plan of the club was found in Les Braithwaite’s flat. 

 
Respond to the statements below and determine whether they are true, false, or unknown. 
Tick the appropriate box. 
 

Statement True False Unknown 

1. A member of John Hodges' family died in the blaze.    

2. If the insurance company pays out in full, John Hodges 
stands to profit from the fire. 

   

3. The flat where the plan was found is close to the club.    

4. John Hodges could have been at the club when the fire 
took place. 

   

5. There are definite grounds to arrest John Hodges for 
arson. 

   

 


